5.1

PGV

5-1

5-1

PGV

5-1
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5-1

18:00

5-3

5-2

5-1
5-2
PGV
100kine 1 2m 10% 18 50 130
0 1Im 25%
100kine 1 2m 75% 18 50 130
0 1Im 25%
100kine 3m 75% 15 50 130
1 2m 25%
100kine 50 130
100kine 1 2m 25% 18 50 130
0 1Im 50%
25%
100kine 2m 75% 18 50 130
0 2m 25%
100kine 50 130
100kine 50 130
100kine 1 2m 18 50 130
0 1Im
1982
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5-3

(m) (m) (%) /nh
5 300m 0 2m 50% 50
2m 50%
5 300m 10 0 2m 25% 50
75%
N 300m 2m 100% 50
N 300m 0 2m 25% 50
2m 75%
N 300m 2m 100% 50
5 300m (11) 0 2m 50% 50
25% 50%
5 300m 50
5 300m 0 2m 25% 50
2m 75%
N 300m 0 2m 50% 50
(12) 50%
75%
N 300m 0 2m 100% 50
5 300m 200
5 300m 0 2m 25% 200
(13)
75%
= 0 2m 100%
= 100m
N 100m
N 100m 0 2m 75%
5 100m 0 2m 100%
5 100m 2m 100%
5 100m
5 100m
N 100m 0 2m 25%

5.2

€Y)
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B.
C. 2 11)
1.3m/ 78m/ 4680m/
15
A.
5-4
5-4

B. 3

C. 78m/ 5-4
D.

5-4 6
E.
5-4 15
(15) 700m 9 12 17
8-9 (13) 625m 8.7 11.7 16.7
14 700m 9 12 17
-8 12 825m 10.6 13.6 18.6
1-4 10 825m 10.6 13.6 18.6
1.3m/ 78m/ 4680m/
+3 +3 +5
8

(2)
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1)

A.
B.
A.
35) (5-1)
(5-2)
(log(-2)?
IO PGV)-1 | 1 B 2
P(PGV):CD{( 9(PCV) ):j S e %«
S N2m g
P(PGV):
PGV :
D(X):
A:log(PGV) ( )
¢ :log(PGV) ( )
X
5-5 A
1951 | 1952 1962 1972 1982
1961 1971 1981
A 4.36 4.44 4.45 4,73 512
4.42 4.73 5.12
14 0.411 0.353 | 0.342 0.378 0.496
0.369 0.378 0.496
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G-1)

5-2)



5-5(2) A 4
1951 | 1952 1962 1972 1982
1961 1971 1981
A 4.27 4.48 452 4.75 5.32
4.42 4.75 5.32
14 0.501 0.525 0.492 0.48 0.599
0.506 0.48 0.599
B.
22) (5_3)
(5-4)
PGV 35)
5-5
) § (5-3)
D1x P1x
D1= X
=0.4x -21
Pl1= =1-nsh
nsh =
= X
=03
- g (5-4)
D2x Plx
D2= -
P1= =1-nsh
nsh =
= X
= 0.09 x -0.485
2) 2.6
22)
00 0 06 10 10 16 16 23 23 24
100% 100 30% 30% 30 100% 100%
6 10 (-(35/2))x +205)%
16 23 (10x )-130%
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nsh??

0.6 0.8 1.0 1.2 1.4 1.6 1.8 2.0 2.2 2.4 2.6 2.8
nsh 0.55 0.45 0.37 0.30 | 0.25 0.20 1 0.17 | 0.14 0.11 1 0.09 | 0.07 | 0.06
PGV
=2.02xl0g(PGV)+ 2.4 5-5
2)
(5-6)
(5-6)
3)
(5-7)
- (5-7)
X
(5-8)
(5-8)
1993
*) 5-6
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5-6

23% 77.9%
54.9%
11.3% 11.3%
4.4% 10.8%
0.5%
5.9%
5-2
a. 8 5-7 5
b. 4 6 5-7 6,7
130-(4+6) 120 5-7
2) 3 100%
120 5-7 10
4) 94 14 12
5-4
(@] X
5-7 11 16
94
5-7
PGV
kine
%
94
100 50130 |8 4 6 120 [100[120 |94 |o |14 | x |12 |x
18:00 50%
2.6 o x 2)
3
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1)

(1)
3 5-8
(1) 1.3m/ 1
5-8(1)
5-8(2)
5-8(3)
V<10m3 10m3 V 100m3 100m3<V
2)
6) 27) (5_9)

y — 0 0282e0.2328x

: (m)
y: (%)

(5-10)
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(5-9)




(5-10)
= X
1) 180r19
5-9 -
15
13 — — —
8.7 S 5 S S 14.4
5-9
2) 2.6m 0.05
19 x 0.05
5-9 10
5-9
(15) 19 9 16.6 X 0.05
8-9 1 (13) | 19 8.7 14.4 o
94 2.6m 14 19 9 9 0
-8 1 12 |19 10.6 10.6 o
1-4 1 10 18 10.6 10.6 o
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